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1. Gefletd! GEuuTEl HRUT HIve! 2
©)RCIEEEEIEICIERIINN @) AR B e
(%) AT YHIUI SHTerdrs e wd
1. Which of the following are the causes of Pollution ?
(a) Increasing use of fossil fuels ) Increasing human population
(c) Deforestation on large scale \[;d{ All of the above
2. S U WG HRAT BIS 3ME ?
0 T . @ Rl @) 5 (3) 377
2. Where is the ‘National AIDS Research Institute” ?
(&Y Pune (b) Delhi (c) Mumbai (d) Chennai
3. WRdTRiel Gelea! BIoedT XouT ‘Hifed! SARHR’ BT HIIT N borell e 2
@n g ST PIRAR (@) R (S) 3T
3. Which of the following States has not implemented ‘Right to Information Act’ ?
(a) Tripura /(’D’)’ Jammu-Kashmir (c) Sikkim (d) Aasam
@wmww@ﬁﬁmm? ar po Heo
(1) TeITE AFTO qREST TEHG (2) SIS HHART @e“ﬁ(( . f! LA
(3) DB HHARE (4) uelt E=rg }% En w\ f[zﬂ\
(37) e 1 @) 1 3oy 2 f
(@) 1, 2 3 3 A, 23014 dyrecd” At = D
4. What has lead to ‘Energy Crisis’ in India ? ¥ R e oo
(1) Imbalance of demand and supply of oils. (2) Deficiency of Electric Power.
(3) Deficiency of coal. - (4) Scarcity of water.
(a) Only 1 (b) 1 and 2
©) 1,2 and 3 : AdY1, 2 and 4
5. Weilclds! DIV G T 3E 2
(31) STERET FROTST HHO o) (9) WIERET TS FHe e
(%) FIERT U W9l Sofig gTor @ |

5. Which of the following statement is/are true ?
(a) Literacy means reading with understanding.
(b) Literacy means writing with understanding.

(c) Literacy means awareness about oneself.

,/Ldj/;ﬂ\ll of the above
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6. waoe e e @releliia B TR 319 ?

(37) eI HRIGYe a< @) Aifa® wre
(@) fEH gt <€) e BN

6. What is needed for the moral development of an individual ?

(a) Directive principles of the Constitution. (b) Infrastructural development.

(c) Economi¢ development. (dy"Fundamental Rights.
7. YRR STAYGNY §X BRUITH! SEEER] DIVTE! 3 ?
(1) RTogIMEA (@) FHEIA
(@Y AETTRYI T () Jafea®
7. Who is responsible for reducing water pollution in the cities ?
(a) State Government (b) Central Government
_(e¥ " Muncipal Corporation (d) Individual

8. feraren YEAMT 9TEl BISUIRIG! “Hehdh’ & HKad DIVl T bet ?

(@) MU 8] STHE @) arfeaE pol
(@) STUUITHTS, HTS (S, TR dSHY
8. Who started ‘Muknayak’ weekly to voice Dalit’s problems 7
(a) Gopal Hari Deshmukh (b) Savitribai Phule
(c) Annabhau Sathe (e Dr. Babasaheb Ambedkar

0. ‘amal ol S o @ AR G BodHET SR FrHivl Hefl” - 3 A7 Prof
Higel ?

_ary <, o T g (@) Sf. GSTERTE WY
() ITBIMAT ATHBR (S) YIS TUIY ANRDBY
9. ‘The ideas of religious and occupational purity created by the Aryans created untouchability’
- who putforth this opinion ?
/Qaj’ﬁr. G. $. Ghurye (b) Dr. Panjabrao Deshmukh
(c) Balshastri Jambhekar (d) Gopal Ganesh Agarkar

10, ‘HERTSET HIfET TR DIV Feel ST 2

@ faga el B @) 0. T HISRSR
J@Fﬁ%ﬁm et gel (T) FASIRG TIHATS
10. Who is called ‘Martin Luther’ of Maharashtra ?
(a) Vitthal|[Ramji Shinde (b) R. G. Bhandarkar

Mahatma Jyotiba Phule (d) Sayajirao Gaikwad
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1. ‘3T WRAR %’ T BT IR el S

P ain RTHATE 1™ CIREIERISRARIES
(@) <. FupeR IEEwH () WRER TeeHHTE T
11. Who is glorified as the ‘Father of Modern India’ ?
/(a’)/Raja Ram Mohan Roy (b) Rabindranath Tagore
(c) Dr. Sarj'epalfi Radhakrishnan (d) Sardar Vallabhbhai Patel

12. YT SR N GRERE O qrevard A6 2

(37) sﬁTrTrr%lﬂ (d) TAETS JfaSP
(@) A S ey T gl
12. Whose birthday is celebrated as ‘Women’s I;iberation Day’ ?
(a) Indira G}andhi (b) Ramabai Ambedkar
(c) Aanand| Joshi /Ld)/Savitribai Phule

13. ‘T STAC |ITE AR Afew’ & T Hof farfeen 2

@ ¥ | (@ TS
(P) a1 ©REEGEERIG
13. Who wrote the book “The Development of Social thoughts’ ?
(a) Rainhardgt (b)yBogardus
(c) Surendranath Banerjee (d) Bipin Chandra Pal

14, Sf. 73, &, iéﬁwuﬁmw%%W?

(3N SR TS 101 g @) WESiie SeaeH

(F) RIS ?T%?ﬁﬂ ey (@ WRae SdTE shE
14. Which book|is written by Dr. S. V. Ketkar ?

(@) Dongarichya Turungatil 101 Divas (b) Sarvajanik Satya Dharma

(c) Marathi| Sattecha Uday _(d')/T he History of Caste in India
_ x4
15. X = B| U G 3MME ?
@ HeE | »@){W (@) TEAD ) w7 fmes
| =x .
15. Formula X|= N is used for .....cceeues

|
(a) Median Man (c) Mode (d) Standard Deviation
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16. SHRNEAHEY I TR WBRITH! BT Tl T SR T SRIAVIRATEN........... T AR
@ el Ry i

(1) BT

(8) IATHD

(- A—— is important in deciding whether or not to accept the null hypothesis in research

(a) Arithmathic

I(B)/Statistics

(b) Research Statement

(d) Percentile

1
7. —= X B3 =7

10
(@ 7.803 @) 7803 (@) 780.3 (S) 7803.0
1 g R
10
(a) 7.803 (b) 7803 (c) 780.3 (d) 7803.0
18. Mdn = 245 + —::-?—:?
(37) 25.05 (@) 26.16 _(By75.86 (S) 24.60
18, Mdn = 945 + 4 =7
1
(a) 25.05 (b) 26.16 _tcT 25.86 (d) 24.60
memwwmo C’O'”dr Ans = C
@ i T @) n @ e 1]
' (_ r\C_{_,-v*. CW e |
19. Which symbol represents the ‘Total Number’ in Statistics ? -
) f © n (d) x

(@) i

G{D«ﬂﬁ SR 93T AUTRT YT BT ... BT ?
(ShrTEa® (&) ST fRrere
H) ALTH

CO\(“{!:‘L%’ AnS — X

(S) HETHH
20. The highest Frequency Score is the ............... 7
,Qa)/Mode (b) Standard Deviation
(c) Median (d) Mean
(31) 3fepTel fageror (@) srifdee
(/Eﬁ)/ﬁ iferan (8) e Sfexe
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" IR | is useful for the analysis of data in experimental method.
(a) Analysis of numbers (b) Interpretation
ACT“ Test (d) Research Objective
t] —
(;2. iUl ST Faselan og™ W =T L B3, An o - A
W (@) vl IR -
(@) STTEE (S) gfcrvres

22. Selected small portion from the entire study area is

(@ Sample (b) Pilot Study

(c) Population (d) Responder

.............

23. PRI M gl IUTHE HAMET T U (e YBR = o@el o 2
(37) A& HRNET Ugeh!
(@) Vet wenes uge
() Pl e
23. Which Research Method is recogniged as one of the main type of Descriptive Research
Method 7?
(a) Survey Research Method
(b) Historical Resarch Method
,Le)/Experimental Research Method

(d) Action Research

24. UETE] HRATDHTHG HUET Hefl ST B, M.......

(3) ThT &ALl IueTer AT ST FHEl,
@y P e Rigiaren wi e,

() S feoiedn [ERTE wHag HRl.

(¥) S beled] TNEma i BRI,

24. A resercher is generally expected to :
(a) Study of existing literature in a field.
,(—bj/ Generate new Principles and Theroies
(c) Synthesize the Ideas given by others

(d) Evaluate the findings of a study



25. GTATAUD! T
@ e

25. Which of t

[('a’)/ Snowbaill

PIUTAT SRIHTEIT THAT 378 72
@) YvsH (P) FEIREX () WA
ne following is non-probability sampling ?

(b) Random (c) Cluster (d) Stratified

26. HINd AR
ST ?
(31) I 37

gy

26. The Goverr

gAF 10 I ATBEEET FISTOf (ST B, JTHTST DI YEarEr SUENT el

ST C)NEEARIGED

(®) TATTHS

ment of India conducts census after every 10 years. The method of Research

used in this process is ?
(a) Case Study (b) Developmental
Survey (d) Experimental

27. IO BIHECTS, AR & Wi 3R 2

(@7 FFerr wnef qui /(’a)/aﬁgrcﬁ ey

() HhHeTid ST () GO =PI 3pf
27. In a research an ‘Operationed Definition’ refers to ?

(@) Meaningful description of Concepts. Mntative Statements.

(c) Applicability of Concepts. (d) Precise dictionary meaning.
28. WENT ..fcsniis ?

28. A Research

(@) An exg
(b) One h

1er has 10 be .cecveceveiiieeeennns

ert in the subject in which he is doing Research.
aving Sound Knowledge of Statistics.

(c) One who is experienced in teaching the subject.

,(,d’)/Oneh

aving interest in finding solutions to problems.

29. SR 5-4-=
6-16 = 32

AT 3-9=

() 90

23, 8 -1 =683,
9-9 =78,
6 T 3-81=7
() 18 &® 77 ﬁ%
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29. If5-4 =23 8-1=63,
6-16=32,i 9-9=78
|
and3-9=6; them 3-81=7
(a) 90 | (b) 18 (©) 77 L)
| _
30. I € AR Uit 9 fadet 9807 o, gwre § RAde 9t ARY: oY UMTER © UFRS) B0 2

30.

(31) AT

Bhavana is §

Ay R (@) Fgor () g

agar’s Wife and Vivek’s Sister, Prabhakar is Vivek’s Father then, What is the

|
|
5

relation betw";een Prabhakar and Sagar ?

(a) Uncle

/(G)élther -in-law (c) Brother - in - law (d) Son - in - law

®) Q

(b) | (c) Q (d) W

|
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el TR 2| : d ub)g
| No a°
(@ T o PR ) T Y
(@) Te5g Sy RrEer (8) SR ST e
32. Five Friends are sitting on a bench Amar is to the left of Raghav and to the Right of
Bhushan. M%hesh is to the right of Raghav. Rahul is sitting between Raghav and Mahesh,
Who two ar¢ sitting on the two corners of the bench ?
(a) Mahesh l’:\nd Amar _467 Bhushan and Mahesh
(c) Raghav ?nd Rahul (d) Amar and Bhushan
B B325 49!: ? YRR Wefieia! BIord G Age 2
@) 64 ' @) 16 (@) 36 1S) 81
o I I S 42? : ? Which of the following number will be replaced by a question mark ?
(a) 64 | (b) 16 (c) 36 ()81




